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1 | AO3 |l P | AR B> | 79 88 83.5 | 1
2 | A4 [iE¥n iR | TAEHUN | fTERE | 81 85.4 [83.2 | 1
3 | A04 ik ke | AR EOm| BB | 77 75.2  |76.1 | 2
4 | A05 | N TR RE| EAEZUN| 2% | 80 87.4 [83.7 | 1
5 | A06 | SZUllHOy | BAREM| ZEMAR | 70 83.4 [76.7 | 1
6 | BO1 | ¥l =B | selZEUm| it [82.5 93 87.8 | 1
8 | BO3 |l Re | Syl | #iE | 73 93 83.0 | 1
10 | BO3 |illi&SeBe | selm|  #HB] |78.5] 86.67 82.6 | 2
7 | BO3 |l SR | SR | M ERR | 72 92.33 [82.2 | 3
9 | BO3 [Hili& =B | Sl #om| B | 69 83.33 [76.2 | 4
11 | BO4 [i@wBe | el ZUm| vtk | 71 97 84.0 | 1
12 | BO5 [SEillHR-Cy | SEYIZEUM| 5K %0 [80.5 98 89.3 | 1
13 | Col |ERgeAb=| T3 | #in & |85.5] 93.5 89.5 | 1
14 | CO1 [BRREAb=| T Ak | 84 93.4 |88.7 | 2
15 | COl |HR@ekb=| 3 | 7042 [87.5] 89.2 [88.4 | 3
16 | COL [HREEAb=| T | 518 | 84 91.8 |87.9 | 4
17 | Co1 |HRgekb=| T+ wir | 81 89.6 [85.3 | 5
18 | Col |HRgeAb=| T3 | &8 |77.5] 89.4 [83.5 | 6
19 | col |HHpekb=| T3 | #EIFPH | 78 79.6 |78.8 | 7
20 | COl |HHpedb=| T3 | W | 82 74.6 |78.3 | 8
21 | col |HRpedb=| +FH | EFHE |77.5 79 78.3 | 8
22 | col |HRpeAb=] +F | HFHyE |81.5] 744 [78.0 | 10
23 | Ccol |HRpedb=| T+ BEAE | 77 78 77.5 | 11
24 | col |HRgedb=| TF Mz | 79 76 77.5 | 11
25 | CO1 |HRpEAL=| FHFH A | 78 73.6  |75.8 | 13
26 | COl |HHpekb=s| T3 | kg | 75 76 75.5 | 14
27 [ col |[HRpedb=| FTH | ot | 4 75 74.5 | 15
28 | CO1 |HREEAL=| T Gl 74 74.8 |74.4 | 16
29 | col |Hpedb=| T3FH |[FTHREE| 71 77.6  |74.3 | 17
30 | Col |HRmesb=| T3 | W& +& |63.5] T74.8 69.2 | 18




